Methods 3 Integration Practice Test

Calculator Assumed
PERTH MODERN SCHOOL
Freoutand schooling plicnal studenis.
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Name
Total Mark
L Determine the area of the shaded regions [7 marks]
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2. Use a caloulus method to find the area of the region trapped by the corves 19 marks]

2
a) y=x and y=-x+2

b) y=2x(x+2)and yv=x+2



(3\ The accompanying diagram shows the logo of a particular company. The logo consists of four petals as
' shown.

All measurements are in metres. Find the total area of the petals. (3]

4 The instantaneous rate with which the temperature, 8 degrees Celsius, of a body changes with respect to

time, ¢ minutes, is modelled by Eld—? =2-0.05t.

(a) Find when the maximum temperature of the body occurred.

(b) Find the net change in temperature in the (i) first 5 minutes (ii) 5th minute.



5. The marginal cost for producing x items of a product is given by dC/dx = 0.04x, where $C

is the cost of producing x items of a product.
(a) Given that the fixed cost is $20, find the cost of producing 100 of these items.
(b} Find the net change in cost if the number of items produced is changed from
100 to 200.
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